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4.

3.

@

Symbolize the following (any fwo) 2

(a) Al that glitters is not gold
(Gx : x glitters, Ax : x is gold)

(b) Some students are both intelligent and hard workers,
(Sx : x is a student, Ix : x is intelligent Hx : x is hard
worker)y

(c) If any bananas are yellow, they are ripe (Bx : x is a
banana, Yx : x is yellow,Rx 7 x is ripe}

Prove that the following argument is invalid (any one) 4

(@) ) ExDFx)
(x) -(Gx > Fx)
Sy (BExo Gx)

() (%) (Cx>~Dx)
~Cj

State the 30:955 @ammﬁmnmwom rules for UG or El
with mmﬁmﬁom. _ _ I

(3)
GROUP - B /fett - 9
6. LetA={x,v, z}. How EH@ subsets does A contain and
what are they ? 2
-  OR ‘
7. When are two sets A and B said to be equal? 2.

8. Take mxmﬁwﬁnm of Tabular form of a set and set builder

form of a set. i . 2
OR _
9. gm\m isthe. mmm.ﬁmmon between subset and proper mﬁ@mnﬁ ?
Take ‘examples to explain. 2
10. Prove that AU B = ¢ implies A= ¢ and B =¢. 3
| OR
11. Prove that AN ¢=49. | . 3
12. Prove : _ -
A-BcA _ 3
OR |
13. (A-B)ynB=¢. : . 3
14. Provethat B—Ais a subset of AL o 3
| - or
15. B-A'=BnA. . 3

(Purn Over)




